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TRIGNOMETRY

KEY POINTS

1. Trignometrical Ratios : In AABG, £ B = 90° for angle &

sin A — Perpendicular
= T Hypotenuse
Base

cos A = —————
Hypotenusea

Parpendicuwlar

tam A =
n Base

Pemandicular

Base

ot = ———M—
FPerpendicwar

Hypatenuse
Basea

== |

Hypotenuse

sec A -
= Perpendicuwlar

2. Reciprocal Relations :

1 1

siml = ——— | sec B = — -
i cosec H o sim B
1
cos B sec U
sec cos 0
1 1
tan@ = at B =
" ) = tan B

3. Quotient Relations :

tand = sin @ . CDTH:G?GLE‘
cos B sin @
4. Indentities :
siifl +oosfB=1=s5inP8=1-cos?Bandeos® B =1 -5t 8

1+ 1an® 8 = sec® § = fan® B = sec® § — 1 and sec® 6 — an® @ = 1
1 +cofil = cosec® 1 = cot? ) = cosec” ) — 1 and cosec® 0 — co® 1 = 1
6. Trignometric Ratios of Complementary Angles
sim (B0° — @) = cos B
cos (90° — ) = sin B
tan (80% — &) = cot &
cot (90° — ) = tan ©

sec (B0° — 8) = cosec B

cosec (B0° - 8) = sec H
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5. Trignometric Ratios of Some Specific Angles @
SA o o 43" 6o ao°
1 1
sin A o = E 1
2 2 2
V3 a1 1
cos A 1 ? 1.'5 2 1]
1
fan A 0 el 1 J3 Mot defined
2
cosec A Mot defined 2 J2 '_E 1
W
2
sec A 1 5 J2 2 Mot defined
W
1
cat A4 Mot defined J3 1 N 0
W

MULTIPLE CHOICE QUESTIOMS

Mote = Im the followirg guestions. (OF = 8 =< 80°

1. T x = & sim @ and = a cos 9 then the wvalue of x© + 3~ is
(o) a (b} =
L
e} 1 {d} =

a
=2 The wvaluwe of coses T0F — sec 20° is
(a}) O {b} 1

= I oy 20"

= 4
3 =
(=} r {d} =
. HF 8 = 45° then sec 0 cot @ — cozsec @ tan B is
(a) 0O by 1
(=} -3 ) b ]

=S H sin (800 — 8) cos B = 1 and B s an acule argle then B8 =

(a) SO0~ b} SO~
=) =07 dyp o=
B The wvalue of (1 + oos B) (1 — cos §) cosectd =
(@ O () 1
e} ecosTa {d} sin®a

=|

ATHY is a right-anglked isosceles tmangke them cos T + cos @ + ocos ¥ is

a)y = by 2,5

SIMILAR TRIANGLE X Maths Page 2



HTTP://JSUNILTUTORIAL.WEEBLY.COM/

8 K K+ 7 sect 62° — 7 coff 28° = 7 sec 0° then the value of K is

(a} 1 (b} O
1
(e} 7 @ =
. n h n ]
8. The value of cotd sim = 5} .JEHJS- = @ | s
{a) cot @ cos®@ {b} cot®@
(e} cos2a {d} w@n® B

1. Hsn @ —cos 8@=0,0=< 8 =< 90° then the value of § is

(a) cos @ b} 43=
(e} ©O* {d}y sim @
sin
1. Jﬁ can be written as
— Gir

{a) ecotd b} Jsing
sin @
i) Toon (d} tan 8

12. H simB = % then the wvalue of sin & + cosec O is

(=) 0O ) 1

(c) {d}

B b
paf

13. In an isosceles nght-angled AABC, 28 = 90°. The value of 2 sim A cos A is

(@) 1 ® =
_1 -
(e} N oy Sz
sin® 20° = sin° 7O° sec B0° _
14. K 7 = = = K then K is
Enlcaus 68" 4+ ocos- 217
L L
{a} 1 b} 2
e} 3 ) 4
AC 3

13. AABCG - APAT and £C = £H = 80°. K T then sin T is

| L
wen

{a) {b)

| g
=] en

(c) {d)
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SHORT ANSWER TYPE QUESTIOMNS

16, In APOR., A20Q = 807 and sinA = % write the wvalue of cos P.

17. W A and B are acule angles and sin A = cos B then write the value of 4 + B
18. K 4 cot 8 = 3 then write the value of tan 8 + cot 8.

18. Write the wvalue of cof® 307 + sec? 45°.

20. '‘Write the value of sin (890 — 8) cos 8 + cos (B0 — B) sim 8.

21. W 0 = 30° then write the value of sin § + cos® 0.

22. K 1 lanEB—%'Ihen wihat is the wvalue of 8.

23. What is the value of 2 cosec® @ + 3 sec® @ — 10 if & = 45",
24. K & and ¢ are complementary angles then what is the wvalue of
coses 0 cec 0 — oot B fan ¢

23. K fan (3x — 157) = 1 then what is the value of x.

14+ simB

268. H B8 cotd — 15 = 0 then what is the value of
cos B

LOMG ANSWER TYPE QUESTIOMS
27. Simplify -
tan® 80° + 4 cos® 45° &+ 3 (sec” 30° + cos® 007
28. Find the wvalue of

4 sim 85" 13 cos 533" cosec 37"
28. Prowe that

cosec® B — cosec” 8@ = cot® @ + cot* B
30. W sin @ 4+ sin® 6 = 1 then find the value of cos® 0 + cos? 0

31. KW sim 28 = cos (B — 35°), 26 and & — 26° are acute angles then find the wvalue of 8.

32, Ksim(3x+ 2y =1 and cos{3x — 2y) = 1":?3. where 0 = {(3x + 2y} = 90° then find the value
of x and
33 Hsm(4A+ B) =snm A cos B + cos A sin B then find the value of
(@) sin 75°

(b} cos 15°

cos A cos A .
34, F'n:u'..'\rF_--ll'ml1 tanA+1 mtA—l::n:::A.A.-d—E.

lll:set:iil 1 N ||secl.l + 1
Veecd =1 YsecH —1

35. Prowe that

38. Find the value of

sin® 5° + sim© 10° + sin® 15% + . 4+ sin® 85°
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37. Prove that
tant + sec -1 _ cosb
tanf® — secf +1 1- sini’
. . .2 2
38. I 2sin(2x - 15) = Y3 then find the value of sin” (2x +10) + fan” (x + 5).
38. Find the value of sin G0° geometrically.
1
40. Le‘tp:t-an'.'-!+se-c:Ell"enﬁndll"eualueulF";-
41.  In right angked AQPQ, right angle at P. OF =7 em and £ 0 = o If see (80 — o) — tan (90 — o)
1
z then what is the wvalue of 00 — PO
2 .:r2 -1
42 K sin @ = a sin | and tan « = b tan | then prove that cos™ a = .
b" —1
43, 8 is acute angle and 5 5inf 8 + cos? 8 = 4 then find the value of 6.
44. Inan acute angled AABC. if sin (A + B —C) = - and cos (B + C - A) L,_ then find angles
2
A Band &
43. K A, B C are the interior angles of a triangle ABC, show that
"in:JB + G\:m'i ' m"l..E + G sim —
5 Tz 55 52 |=
ANSWERS
1. B 2. a
2 e 4. a —_ -
[3+1 3 +1
5 o 6. b 32 x=2y=15 33 \‘?\—.— take A = 43°, B = 30°
242 242
7. a 8 b
9. a 10. b M- B
11. o 12. o 17
38/ = 7 -
13. a 14. o 2
15. a 16. cos P 2. E 2 -
12
25
17. 90° 18 o= 40, 2szecH 41. 1
19. 5 =l 2 - 43, 60°
5 4, FA=GTF LB=375 LC=T7F
21. = 22, 3¢
4
23. 0 24, 1
25 5
. x = 20 26. 3
3
27. 9 28. =
30. 1 31. 42°
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